APPENDIX. 1 (Q1a) NB:

( TO BE COMPLETED AND INSERTED INTO YOUR ANSWER BOOKLET)

Eg Pa Sar Lar
BLOCK| Load Qty (KW) 1 (KW) Ku| Ks [Ks;| Pds |p.f.|Qds| Pas | Qus | Ses |p.f.| Ias |Ksl Par | Par | Qar (KVA) (A) Cos ¢
" Sockets 2P+T g | 352
m " | Single phase motor | 6
m < | Compressor 1 1
o Lift 1| 15 )
= Y=
Fluorescent tubes 30 =
Single phase motor | 4 M_u
W Three phase motor 3 &
m o | Sockets 2P<T 10 | 3.52 _ $
Milling machine 1 i)
& g n o
= Lathe machine 4 @
Fluorescent tubes 20 | 1.42 1 Mw
>
Planing machine 1 Mw
P~
& |Grindingmachine | 9 | 16 (09| 16 |08)075| | 96 [08] 7.2 <
=
m . Mortising machine 1 . Qw
m Fluorescent tubes 18 .mw.
o
= Sander 2115 mn
T Circular saw 22
&, Fluorescent tubes 42
2B ;
Z 2 | Refrigerator 2| 2
=E=Q o 1
W M M Air conditioner 3 125
< Sockets 2P+T 12
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